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��''0���#%���'. '#'��0� �%��0��#(�'��8� �;��%$� #.! �# �0#�� ������� �;#'�%���'.
'�0��'�%�0 # ���%�$& �< <�������#'�#(�'�#< ���% � #� %#��

a0s
n + a1s

n−1 + a2s
n−2 + · · ·+ an−2s

2 + an−1s+ an = 0, A9B

8�� %����� ���33#4#� ��% a = (a0, a1, . . . , an) ;�# ��$�/#�  �������0� '%.2 �0� 0 �/�,
'�%� A ⊂ Rn+1! a ∈ A! n 6 '��;� & ;�$# �0� A4�$�� (#'$�B� s 6 ��0;$��' �� ;���0�  ��!
s = σ + iω�

S�$�/#0! (�� ���33#4#� �� A9B ���'�%#��$& � # #20� .-�'. % '$���-?#< ;����$�<�
aj ≤ aj ≤ aj , j = 1, n, a0 �= 0, 8�� aj # aj 6 '���%��'�%�  � 0# #0�$& �� # 0��'#0�$& ��
2 �(� #. 2�0� ���8� # ���%�$� #20� � #. ���33#4#� �� aj�

� 4�$&- 3��0#��%� #. ��� �%�< 8���8��3�% %���$#0 ��# #2 ���33#4#� ��% ���% �,
 #� A9BA'%�1�� �� ���33#4#� � akB # ;���;#��0 A9B �� �'#��$& � ���8� ���33#4#� ��

ak = f(s) = −φ(s)
ψ(s)

= u(σ, ω) + iv(σ, ω), A5B

8�� φ(s) =
∑k−1

j=0 ajs
n−j+

∑n
j=k+1 ajs

n−j # ψ(s) = sn−k 6 ;�$# �0� # ���%�$& �8� '�0��'�%��
u # v 6 8��0� #(�'�#� 3� �4## �%�<  �2�%#'#0�< ���'�%#��$& �< ;���0�  �< σ # ω�

��� �%�0 8���8��3�0 �$8�1��#(�'��8� ���% � #.  �2�%�0 ���1��/� #� 2���  �� ��#,
%�� ��0;$��' �� ;$�'��'�# ak %��&#���0�8� ;���0����  � ;$�'��'�& ��0;$��' �8� ;���,
0�  �8� s! �'�?�'�%$.�0�� ' ;�0�?&- 3� �4##! �;����$.�0�� #2 ��  �8� ���% � #. �9��

�$. ��''0���#%��0�< '#'��0 �%��0��#(�'��8� �;��%$� #. ���#0 �$8�1��#(�'�#0 ���%,
 � #�0 .%$.��'. <�������#'�#(�'��� ���% � ## %#�� A9B� � ��(�'�%� %��&#���0�8� ;���0��,
�� 0�/�� #';�$&2�%��&'. $-1�� #2 ���33#4#� ��% <�������#'�#(�'��8� ���% � #. #$#
%<��.?#� % ���33#4#� �� ;���0����

S�# %��#�4## $-1�8� #2 ���33#4#� ��% ���% � #. A9B ;� �;����$�  �0� 2��� � % ��0,
;$��' �� ;$�'��'�# ���8� ���33#4#� �� ��� # ��  �8� ���% � #.! #20� ..'&! ;���/��-�
��� �%�� 8���8��3� % ;$�'��'�# ��0;$��' �8� ;���0�  �8� W '#'��0�! ������� ;�$ �'�&-
�;#'�%�-� �� �# �0#(�'�#� '%��'�%�� �'���(#%�'�&! ;���2���$# ��(�'�%� # ��� ��� �%��
8���8��3� �;#'�%�-�'. 3� �4#�� A5B

�� �' �%� ## 3� �4## ���1��/� #. A5B 2�;#��0 ���% � #� ��� �%�8� 8���8��3� ���,
���(#�� 6 C%� '� �9�

v(σ, ω) = 0 AtB

# '���%��'�%�-?�� ���% � #� ;���0����

u(σ, ω) = ak A)B

�$. ��''0���#%��0�� # ���%�$& �� '#'��0� ' <�������#'�#(�'�#0 ���% � #�0 A9B�
�'���(#%�'�& '#'��0� ' ;���0���#(�'���  ��;����$�  �'�&-! �;#'�%��0�� '�0��'�%�0

<�������#'�#(�'�#< ���% � #� A9B! �;����$.��'. ��';�$�/� #�0 ��� �� '�0��'�%� �� �'#,
��$& � 0 #0�� �'# iω) ;$�'��'�# ��� �� s! .%$.-?��'. 8�� #4�� �'#0;���#(�'��� �'���,
(#%�'�# '#'��0��

�'�� �%#0 <������� ;���'�(� #. 8�� #4� �'#0;���#(�'��� �'���(#%�'�# '#'��0�! �;#,
'�%��0�� '�0��'�%�0 <�������#'�#(�'�#< ���% � #� (��%����8� ;��.��� %#��� s4 + a1s

3 +

95u



a2s
2 + a3s + a4 = 0, %��%.0# '%�1�� �< ��� �%�< 8���8��3�% ' ;���0����0 a3! �(#��%�.!

(�� %'� ���33#4#� �� ���% � #. 2���-�'. �;����$�  �0# # ���%�$�0# 2 �(� #�� �$.
���� 4�$# ��''0���#0 ��� �%�� ;������ '#'��0� # %�';�$&2��0'. 3� �4#�� ;���0���� A)B
8���8��3� # ���% � #�0 ��� �%�8� 8���8��3� AtB� S��'��%#% 2 �(� #� σ = 0 % ���% �,
 #. AtB # A)B! �;����$#0 �$. ;�$. ���% � #� ��� �%�8� 8���8��3� # 3� �4#- ;���0����
��������##  � 8�� #4� �'#0;���#(�'��� �'���(#%�'�#�

−a1ω
3 + a3ω = 0, AuB

a4 = −ω4 + a2ω
2, a2 ≤ a2 ≤ a2. AyB

���% � #� ��� �%�8� 8���8��3� AuB #';�$&2���'. �$.  �<�/�� #. �����# �� ω ��(��
;���'�(� #. 8�� #4� �'���(#%�'�# %��%.0# ��� �%�< 8���8��3�% ;�$.! � 3� �4#. ;���,
0���� AyB 6 �$. �;����$� #. 2 �(� #� '%�1�� �8� ;���0���� A% ��''0���#%��0�0 '$�(�� 6
a4B %  ����  �< ��(��<�

�%#�� � �$#�#( �'�# #  �;����% �'�# 3� �4#� AuB # AyB �(�%#� �! (�� ��(�# ;���,
'�(� #. 8�� #4� �'���(#%�'�# A�'# iωB %��%.0# 8���8��3�% ;�$. �1��2�-�  � ���� �'#
 �������- �1$�'�& Df

ω! ;�#(�0 ��/��. %��%& �1��2���  �������-  �;����% �- ;���1$�'�&
���2�  �� �1$�'�#� �;����$#0 0��'#0�$& �� # 0# #0�$& �� 2 �(� #. 3� �4## ;���0����
% �1$�'�# Df

ω� �$. ���8� #''$����0 ��  � ��'���0�0 ' ;�0�?&- ;��%�� ;��#2%�� ���

u′(ω) = −4ω3 + 2a2ω = 0. A:B

���#% A:B �$. a2 = a2! ;�$�(#0 0��'#0�$& �� ��(�# ��'���0�0� 3� �4## ;���0����
 � 8�� #4� �'���(#%�'�#� �$. n = 4 1���� ��# ��(�#�

���#% A:B �$. a2 = a2! ;�$�(#0 0# #0�$& �� ��(�# ��'���0�0� 3� �4## ;���0����
 � 8�� #4� �'���(#%�'�#� �$. n = 4 #< ��/� 1���� ��#�

�� �' �%� ## ;�$�(�  �< 2 �(� #� ��'���0�0�% '���.�'. 0�/��� �� # 0# ��� ��
3� �4## ;���0���� 8���8��3�! ������� ;���'��%$.-� '�1�� (�����%� #� �(�'���% %�2,
��'�� #. # �1�%� #. ���� 3� �4##�

���#0 �1��2�0! �1$�'�& ;���'�(� #. 8�� #4� �'���(#%�'�# %��%.0# ��� �%�8� ;�������
��''0���#%��0�� '#'��0� 0�/�� 1��& ��2��$� �  � ��# ;���1$�'�#� �B %�2��'�� #� 3� �,
4## ;���0����� 1B �1�%� #� 3� �4## ;���0����� %B '0���  �. ;���1$�'�&! 8�� #0��� 0�'��
'�(��� #� �(�'���% %�2��'�� #. # �1�%� #.�

�'�� �%$� �! (��! �'$# 8���8��3� ��� �%�8� ;������� # ���%�$& �� �# �0#(�'��� '#,
'��0� ;���'���-� 8�� #4� �'���(#%�'�# % �1$�'�#! 8�� 3� �4#. ;���0���� ��$&�� %�2��',
���� #$# �1�%���! �� �$. ;��%���# �'���(#%�'�# %0�'�� (�����< A'�8$�' � �����0� ���#,
�� �%� �$. ;�$# �0�% '��;� # nB ��'����( � ��$&�� �� �8� ���% � #. '�0��'�%��

s4 + a1s
3 + a2s

2 + a3s+ a4 = 0 6  � �(�'��� %�2��'�� #. #$# A7B

s4 + a1s
3 + a2s

2 + a3s+ a4 = 0 6  � �(�'��� �1�%� #.� A*B

�'$# /� 8���8��3� ��� �%�8� ;������� # ���%�$& �� �# �0#(�'��� '#'��0� ;���'���-�
8�� #4� �'���(#%�'�# % �1$�'�#! 8�� '�(���-�'. �(�'��# %�2��'�� #. # �1�%� #. 3� �4##
;���0����! �� �$. ;��%���# �'���(#%�'�# ���1�-�'. �%� ���% � #. '�0��'�%��

s4 + a1s
3 + a2s

2 + a3s+ a4 = 0, A9+B

s4 + a1s
3 + a2s

2 + a3s+ a4 = 0. A99B

S���$�/� � ;��4����� '# ��2� �'���(#%�< # ���%�$& �< '�0��'�% <�������#'�#(�,
'�#< ;�$# �0�% (��%����8� ;��.���  � �' �%� ���% � #� A7B 6 A99B�
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